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1. Passamezzo

Vincenzo Galilei

























 



















































5 











  












    











 





















 























10 






















































 






















1)





















15 
























 



















































































20 












 


















































 

























































25







  
 



 













 








 



















  





  









 











30 









 


  



















2)



















2 












































35 



















































 
    




 

  

 
















40 





























































































 





 


45 












































  















 






 
































50 



























































 























































55 































































































60





 

 




























  

I-Fn:Central National Library of Florence Libro d'Intavolatura di Liuto, v.1 (1584), pp.1,256,266. Encoded and edited by Sarge Gerbode.

2) Note one course lower in orig.
1) b deleted from 2nd course, here.
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    




































25 










  



















































































30 





































   









2






















 










35 




























































































40 























































  

  

  

  


45 














































































50 








  


























  

 






















 









55 




 









 


  

  







 



 



 



 






 







 





   



 




60




 









 


























 































  

65

3






































































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70 

































































































75 




















































  










    






   
  

80




  





 














































































85 




























 
    







































  

  

90 






























   
  

































       



 

   

95 





























4
































































100 














































  


  

 

 


 






















105 






































































 




 






















110 


















































































































115 









































































































120 




















































































          

125 





















































































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At p. 256




















 















































5 











  

























 
  






































10 









































 





























 













15 


















 











































































20 











































 











  

















  
  



25





   
  










  


 




   



   



  




 









  
  

30 






















 

  
 




















2









































35 



 

  
 










  
 








 




 




 














 
 

 


40





  
  








 
  

  
 








 






   
  
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








  




45 


















 

























 
































50



 









































  
 

























 






55 





  
      

  






 

  
    

  
 


















60



 





























































































65

3











  








    























  

   







  
  

70 






















 
  
























































75 










































 
  






























  







80




  

  

















































































85 





 
  

































  



















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










 


90 











 














  






   
 












  







 










95 



 

  
 






















4








     



  




 




















100 


























  
   

   
   

   

  


 

  
 

105 








    

































































    

110




 
 

  







 
      

  
  




















 





 

115 

















































































120 




























































 
 



   




  



 


125 






  
  
























































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At p. 266











 
  

  
 


















  




 



















 

5 



 






  




 






     








  


  

 
 




  





















10









 














 





 






 

















 

















 













15

























 
      

  
  


















































 












 







20







 
















1)





 

















2)

















 











 



 





   
  


























25

3)





 






















 



 



 




4)






 
  

 




































 









30










 
















 
















 




 

2






        
  



   


 












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4) Note added by editor.
3) Notes faint -- maybe meant to be erased.
2) Note added by editor.
1) Note one course lower in orig.



35







  









 








 


 





















 







 






  
   




    




40



 

  

  

 
  

 
1)








  

  
  

    








   





  










 









  








  

 

  
  

 


45 




























 






  













 



 














2)






   



   




 












50





 







 










 








 



 





 




















 





 
























 


  
 

  
   

55






   





















 















   












 


  
  































60






















 












  
  

  
  

 

3)


       

  
    












  


  










 










65

4)








- 9 -

4) b in orig.
3) Repeated f on 1st course deleted before this note.
2) d in orig.
1) Note added by editor.


